



## MAHARASHTRA STATE ELECTRICITY TRANSMISSION COMPANY LTD., (CIN No. U40109 MH 2005 SFC 153646)

EHV CIVIL CONSTRUCTION CUM MAINTENANCE DIVISION-PARBHANI

EXECUTIVE ENGINEER (Civil) MSETCL, EHV CCCM Division, Old Power House Premises, Jintur Road, Parbhani (431 401). Parbhani Dist :Parbhani -431 401 Tel (O) : **02452-242002** (O) **E-mail :** <u>ee2720@mahatransco.in</u> Web: www.mahatransco.in

## No. EEC/Dn./PBN /Tech/W-68/No. 380

## Date :- 10.12.2021

## E-Enquiry QUOTATION NOTICE

The sealed percentage rate quotations are invited for the following works from the Civil Contractors preferably registered with PWD, Railway and such other department or experienced in similar works of equivalent amount in M.S.E.T.C.L Ltd. The quotations should be submitted in the office of The <u>Executive</u> <u>Engineer (Civil) EHV CCCM Division, MSETCL, Parbhani</u>, Old Power House Premises, Jintur Road, Parbhani on or **before Dated 20/12/2021 up to 16.00 Hrs. (Time).** 

The required blank quotation to be submitted is attached herewith.

Sr. No.	Name of work	Estimated cost	E.M.D	Time Limit
1.	The work of civil foundation of 220 kV Siemens make breaker for 200 MvA ICT 3 HV Bay at 220 kV Waghala S/S, Dist. Nanded.	Rs. 2,38,474.00/-	Rs. 2,400.00/-	01 Month

(V.G. Avhad) Executive Engineer (C) (Charge) EHV CCCM Dn. Parbhani.

Copy S.W.R.S. To:

1. The Superintending Engineer (C) EHV CCCM Circle, MSETCL, Aurangabad. ...This is as per approval vide Ltr. No. 01033 Dt. 12.11.2021.

Copy To:

1. The I.T. section zone office Aurangabad.

## ...For Publication of E-enquiry on MSETCL website.

- 2. The Addl. Executive Engineer (C) EHV CCCM Sub Division-I, Nanded.
- The Dy. Manager (F&A), EHV CCM Division, Parbhani.
  The amount of this work is Chargeable to sanctioned estimate no. T-22/2021-22 Dt. 17.11.2021 under R&M Budget.
- 4. Notice Board.



### MAHARASHTRA STATE ELECTRICITY TRANSMISSION COMPANY LTD., (CIN No. U40109 MH 2005 SFC 153646)

#### EHV CIVIL CONSTRUCTION CUM MAINTENANCE DIVISION-PARBHANI

EXECUTIVE ENGINEER (Civil) MSETCL, EHV CCCM Division, Old Power House Premises, Jintur Road, Parbhani (431 401). Parbhani Dist :Parbhani -431 401 Tel (O) : **02452-242002** (O) **E-mail :** <u>ee2720@mahatransco.in</u> Web: www.mahatransco.in

# Date :- 10.12.2021

# <u>E-enquiry</u>

To,

Subject: The work of civil foundation of 220 kV Siemens make breaker for 200 MvA ICT 3 HV Bay at 220 kV Waghala S/S, Dist. Nanded.

#### Dear Sir,

The Sealed percentage rate quotations are invited from Govt. registered & experienced Contractors for the above work as per schedule enclosed. The quotation should reach to the office of the <u>Executive</u> <u>Engineer (Civil) EHV CCCM Division, MSETCL, Parbhani</u>, Old Power House Premises, Jintur Road, Parbhani on or **before Dated 20/12/2021 up to 16.00 Hrs. (Time).** 

#### **TERMS AND CONDITIONS:**

- 1) The work should be carried out as per P.W.D. specification and instructions of the Engineer in-Charge and to the satisfaction of the undersigned.
- 2) The quantities mentioned in the attached schedule are approximate and likely to vary. However payment will be made as per the work actually executed and measured. The rates shown in enclosed schedule B are inclusive of GST.
- 3) The work should be completed within (01) MONTH from the date handing over the site, failing which the contractor shall be liable to pay as compensation an amount equal to one percent or such similar amount as the competent authority may decide of the W.O. cost for every day the work remain unfinished after due date of completion subject to the maximum 10% of the cost of the order.
- 4) The work which is of bad workmanship quality will not be measured and paid.

- 5) Contractor shall have to arrange for require any equipment, cement, steel etc. at his own cost without involving any financial implications to MSETCL.
- 6) Other material such as require labour, tools and plant will have to arrange by the contractor at his own cost.
- 7) The water arrangement will have to be made by the contractor at his own cost and it is not binding on the part of department to provide water for the work. In case in water is supplied by Department, then the water will be charged at the rate 1% of work done for water consuming item or 0.25% of total value of work order as decided by the Engineer in-charge.
- 8) The contractor will have to make good the damages if any made by him during the execution of work at his own cost.
- 9) The material should be got approved prior to fixing from the Engineer in-charge.
- 10) The contractor should submit the purchase vouchers for cement, steel with the bill invariably.
- 11) Income Tax as per the prevailing income Tax rule and subsequent amendment thereof will be recovered at source of your bill on total value of work done for which the certificate will be issued if desired.
- 12) Contractor will be held responsible for accident occurred during the course of the work and will have to pay the compensation as per the act 1923 and subsequent amendment thereof.
- 13) Contractor should submit his bill in triplicate through Addl. Executive Engineer (Civil) EHV CCCM Sub-Division-I, Nanded to the undersigned. Payment will be made within 30 days period from the date of receipts of bill to this office.
- 14) The terms and conditions in the M.S.E.T. Co. Ltd. Booklet 'Tender and contract work' will stand applicable for this work.
- 15) You will have to deposit **3.00 %** of quotation value as a security deposit against the amount of work order in cash/ DD of any nationalized Bank within 07 days from the date of receipt of LOI, if you will stand successful bidder, failing which EMD will stand forfeited.
- 16) The contractor's offer will be considered as inclusive of all taxes and charges and it will be the contractor's responsibility to pay the taxes to Government and same will not be reimbursed to the contractor.
- 17) Your own offer should be quoted in words and figures scratches and over written rates shall not be considered if not initialed.
- 18) The contractor has to pay earnest money to Rs. 2,400.00/- in cash/RTGS/NEFT/In form of DD of any Nationalized Bank in favor of the EE (C), EHV CCCM DIVISION, MSETC Ltd. PARBHANI. If the EMD receipt of required amount is not found in an envelope, quotation will be rejected.
- 19) The undersigned reserves the right to reject any or all quotations without assigning any reason what so ever.
- 20) GST will be recovered from your bill as per GST norms.
- 21) **Special condition**: The payment shall be effected as per fund availability. Due to shortage of fund there are chances of delay in payments for which the agency will have to bear with the Dept. No. any of claim on this account will be entertained.

- 22) The estimated cost of the work is **Rs. 2,38,474.00/-** only. (Inclusive of all Taxes)
- **23)** Labour insurance will have to be submitted with r/o to the amount of work order, if stands L1 (Lowest) in the stated bid.
- 24) Contractor has to submit the valid registration, Work Experience of similar work under Govt. body, latest updated GST registration certificate, EMD Paid Receipt as mandatory documents at the time of submission of Quotation.
- 25) Also the rates quoted should be submitted on Agency's letter head specifying the with or without taxes.

Encl. : Schedule 'B'

Executive Engineer (C) EHV CCCM Dn. Parbhani.

Copy S.W.R.S. To :

1. The Superintending Engineer (C) EHV CCCM Circle, MSETCL, Aurangabad. ...This is as per approval vide Ltr. No. 01033 Dt. 12.11.2021.



#### MAHARASHTRA STATE ELECTRICITY TRANSMISSION COMPANY LTD., (CIN No. U40109 MH 2005 SFC 153646)

#### EHV CIVIL CONSTRUCTION CUM MAINTENANCE DIVISION-PARBHANI

EXECUTIVE ENGINEER (Civil) MSETCL, EHV CCCM Division, Old Power House Premises, Jintur Road, Parbhani (431 401). Parbhani Dist :Parbhani -431 401 Tel (O) : **02452-242002** (O) **E-mail :** <u>ee2720@mahatransco.in</u> Web: www.mahatransco.in

**Work:** The work of civil foundation of 220 kV Siemens make breaker for 200 MvA ICT 3 HV Bay at 220 kV Waghala S/S, Dist. Nanded.

Estimated Amount: -Rs. 2,38,474.00 /- (Inclusive of All Taxes)

Executive Engineer (C) EHV CCCM Division, MSETCL, Parbhani.

## **Quotation for Works**

I/We have read the general conditions of contracts & the conditions enumerated in the quotation and the same are binding on us.

Signature of th	e contractor :	 	
Name & Firm	Seal :	 	 
Full Address :			



#### EHV CIVIL CONSTRUCTION CUM MAINTENANCE DIVISION-PARBHANI

## <u>Work:</u> The work of civil foundation of 220 kV Siemens make breaker for 200 MvA ICT 3 HV Bay at 220 kV Waghala S/S, Dist. Nanded.

### <u>Abstract</u>

S. N.	Description	Unit	Quantity	Rate (Inl. GST)	Amount
1	Excavation for foundation in earth, soil of all types, sand, gravel and soft murum, including removing the excavated material up to a distance of 50 metre beyond the building area and stacking and spreading as directed, dewatering, preparing the bed for the foundation and necessary back filling, ramming, watering including shoring and strutting etc. complete (Lift upto 1.5 metre) By Mechanical Means	Cubic Metre	8.712	241.52	2,104.12
2	Excavation for foundation in hard murum including removing the excavated material upto a distance of 50 metre beyond the building area and stacking and spreading as directed, dewatering, preparing the bed for the foundation and necessary back filling, ramming, watering including shoring and strutting etc. complete. (Lift upto 1.5 metre) By Mechanical Means	Cubic Metre	7.260	265.29	1,926.04
3	Excavation for foundation in soft rock and old cement and lime masonry foundations including removing the excavated materials upto a distance of 50 metre beyond the building area and stacking as directed including dewatering, preparing the bed for the foundation and necessary back filling, with available earth, murum, ramming, watering including shoring and strutting etc. complete. (Lift upto 1.5 metre) By Mechanical Means	Cubic Metre	7.260	503.06	3,652.21
4	Excavation for foundation in hard rock by chiselling wedging, line drilling etc. including trimming and levelling the bed, removing the excavated materials upto a distance of 50 metres beyond the building area and stacking as directed, dewatering and back filling with available earth / murum, ramming, watering complete. (Lift upto 1.5 metre) By Mechanical Means	Cubic Metre	7.260	1530.45	11,111.07
5	Providing and laying in situ cement concrete of 1:4:8 proportion with trap/ granite/ quartzite/ gneiss metal in foundations including necessary form work, compacting and curring, etc. complete. (with reversible drum type mixer with Supervisory Control and Data Acquisition with fine agreegates of required specifications (Natural sand / VSI sand finely washed etc)	Cubic Metre	1.452	7390.08	10,730.40

6	Providing and laying in situ/Ready Mix cement concrete M-20 of trap/ granite/ quartzite/ gneiss metal for reinforced cement concrete work in foundations like raft, strip foundations, grillage and footings of reinforced cement concrete columns and steel stanchions, etc. including bailling out water, formwork, cover blocks, compaction, curing and roughening the surface if special finish is to be provided (Excluding reinforcement and structural steel), etc. complete, with fully automatic micro processor based Programmable Logic Controller with Supervisory Control and Data Aquisition enabled reversible Drum Type mixer/ concrete Batch mix plant (Pan mixer) etc. complete. With fine aggregate (Natural Sand / Crushed sand VSI Grade finely washed etc)	Cubic Metre	3.600	8635.48	31,087.73
7	Providing and laying cast in situ / Ready Mix cement conrete M-20 of trap / granite /quartzite/ gneiss metal for reinforced cement concrete columns as per detailed designs and drawing or as directed, including steel centering, formwork, cover blocks,aying/pumping, compaction, finishing the formed surfaces with cement mortar 1:3 of sufficient minimum thickness to give a smooth and even surface or roughening the surface if special finish is to be provided and curing, etc. complete. (Excluding reinforcement and structural steel). with fully automatic micro processor based Programmable Logic Controller with Supervisory Control and Data Aquisition enabled reversible Drum Type mixer/ concrete Batch mix plant (Pan mixer) etc. complete.with fine aggregate (Natural Sand / Crushed sand VSI Grade finely washed etc)	Cubic Metre	6.000	16253.93	97,523.58
8	Providing and fixing in position thermomechnically treated FE-500 steel bar reinforcement of various dias for reinforced cement concrete pile caps, footings, foundations, slabs, beams, columns, canopies, staircases, newels, chajjas, lintels, pardis, copings, fins, arches, etc. as per detailed designs, drawings and schedules including cutting, bendding, hooking the bars, binding with wires or tack welding and supporting as required complete.	Metric Ton	0.672	89822.27	60,360.57
9	Providing internal cement plaster 12 milimetre thick in a single coat in cement mortar 1:4 without neeru finish to concrete or brick surfaces, in all positions including scaffolding and curing, etc. complete.	Square Metre	8.400	341.71	2,870.36

10	Providing & applying 2 coats of exterior acraylic emulsion paint to plastered surfaces including cleaning, preparing plaster surfaces, applying primer coat, scaffolding, if necessary & watering surface for 2 days complete.	Square Metre	8.400	300.33	2,522.80
11	Labour charges for Skilled Labour at the site of work.	Per day	5.000	724.55	3,622.77
12	Removing rich mix cement concrete including stacking the spoils as directed with all leads, lifts etc. complete.	Square Metre	10.000	1096.22	10,962.18
	Total Rs. =				2,38,473.77
	Say RS.=				2,38,474.00

Executive Engineer (C) EHV CCCM Division, MSETCL, Parbhani